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The following jircliiniiiary clciufiits were selected as a basis for the least stiuares

solution

P - a ;?37 ilays

e = 0-2()

o) = 120°

T = .1.1). 2,422,1.")] 200

K = 00 km.

7 = -U) 2 km.

The residuals left in the normal places from these elements are jiiven in the table

under the heading, () (' ])reliminary. Observation eciuations were next formed and the

solution gone through in the usual way. The changes in the elements are rather larger

than usual antl tht residuals computed from the ephemeris differed in some cases from

that computed from the observation e<iuations. The solution resulted in a lowering of

w/jr- from 954 to 516 so that a second solution would probably improve the residuals

still further. As will be seen from the probable errors of the elements the changes of the

present solution are of the same order as these and as the next solution would probably

result in much smaller changes, they may be taken as negligible. The .several steps in

the solution are recorded.
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